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1R 5LYDOLGDG� (O FRQVXPR GHO
ELHQ R VHUYLFLR SRU XQ LQGLYLGXR
QR LPSLGH R UHGXFH
VLJQLILFDWLYDPHQWH HO FRQVXPR
SRU SDUWH GH RWURV�

1R ([FOXVLyQ� 1R HV SRVLEOH
LPSHGLU HO FRQVXPR GHO ELHQ R
VHUYLFLR SRU SDUWH GH XQ
LQGLYLGXR FXDOTXLHUD R HV
GHPDVLDGR FRVWRVR HVWDEOHFHU
EDUUHUDV TXH VH OR LPSLGDQ�

/D FRQQRWDFLyQ ´S~EOLFDµ GH ORV EDxRV QR UDGLFD HQ OD SURSLHGDG GH ODV
LQVWDODFLRQHV ItVLFDV \�R VX DGPLQLVWUDFLyQ SRU SDUWH GHO (VWDGR� QL HQ VX
ORFDOL]DFLyQ ²OD FXDO SXHGH HQFRQWUDUVH GLUHFWDPHQWH VREUH HO HVSDFLR S~EOLFR
R DO LQWHULRU GH XQD HGLILFDFLyQ�� VLQR HQ OD SRVLELOLGDG GH DFFHVR JHQHUDO
LUUHVWULFWR DO ELHQ�VHUYLFLR�
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´+DJD�XQD�UHODFLyQ�GH�ODV�
LQVWDODFLRQHV�ItVLFDV�FRQ�ODV�
TXH�FXHQWD�OD�HQWLGDG�TXH�

UHSUHVHQWD��TXH�HVWiQ�
DELHUWDV�DO�S~EOLFR�JHQHUDO�R�
SUHVWDQ�VHUYLFLR�GH�DWHQFLyQ�

DO�FLXGDGDQR��\�TXH�
GLVSRQHQ�GH�XQ�VHUYLFLR�GH�

EDxRV�GH�OLEUH�DFFHVR��
LQGLFDQGR�SDUD�FDGD�XQD�
GH�ODV�LQVWDODFLRQHV�SXQWRV�
LGHQWLILFDGDV�VX�GLUHFFLyQ�\�

ORFDOLGDGµ�



2EOLJDWRULHGDG GH H[LVWHQFLD GH EDWHUtDV VDQLWDULDV HQ
HGLILFDFLRQHV FRPHUFLDOHV

�$FXHUGR �� GH ���� �&yGLJR GH &RQVWUXFFLyQ�� $UWtFXOR '�������
5HTXHULPLHQWRV \ HVSHFLILFDFLRQHV GH DSDUDWRV GH IRQWDQHUtD�

2EOLJDWRULHGDG GH H[LVWHQFLD GH EDWHUtDV VDQLWDULDV DELHUWDV
DO S~EOLFR
�$FXHUGR �� GH ���� �&yGLJR GH &RQVWUXFFLyQ�� $UWtFXOR $�������
6XE�JUXSR GH HGLILFDFLRQHV FRPHUFLDOHV &�� �%LHQHV \ 3URGXFWRV��
GHILQLGDV FRPR HVWDEOHFLPLHQWRV GH FRPHUFLR DELHUWRV DO
S~EOLFR�

2EOLJDWRULHGDG GH SUpVWDPR DO S~EOLFR HQ JHQHUDO GH
EDWHUtDV VDQLWDULDV HQ HVWDEOHFLPLHQWRV DELHUWRV DO S~EOLFR
�/H\ ���� GH ���� �&yGLJR GH 3ROLFtD�� $UWtFXOR ��� 1XPHUDO � \
3DUiJUDIR ��
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&RPHUFLDO��
%LHQHV�\�
3URGXFWRV

$OPDFHQHV 1R KD\ XQ FyGLJR &,,8� QL XQD FDSD JHRJUiILFD HVSHFLILFD�

0HUFDGRV
(TXLSDPLHQWRV GH DEDVWR GH DOLPHQWRV �'HFUHWR ��� GH ����� $UW�
���� 1~P� �� /LW� &�� 6H LQFOX\HQ HQ HO DSDUWDGR GH 2IHUWD HVWDWDO
GLVWULWDO FRPR 3OD]DV GH PHUFDGR�

6XSHUPHUFDGRV 1R KD\ XQ FyGLJR &,,8� QL XQD FDSD JHRJUiILFD HVSHFLILFD�

'HSyVLWRV�PHQRUHV 1R KD\ XQ FyGLJR &,,8� QL XQD FDSD JHRJUiILFD HVSHFLILFD�

5HVWDXUDQWHV��
FDIHWHUtDV��IXHQWHV�GH�

VRGD�\�VLPLODUHV

&HQVR GH HVWDEOHFLPLHQWRV HFRQyPLFRV �&yGLJRV &,,8��
������ ([SHQGLR D OD PHVD GH FRPLGDV SUHSDUDGDV�
������ ([SHQGLR SRU DXWRVHUYLFLR GH FRPLGDV SUHSDUDGDV�
������ ([SHQGLR GH FRPLGDV SUHSDUDGDV HQ FDIHWHUtDV�
������ 2WURV WLSRV GH H[SHQGLR GH FRPLGDV SUHSDUDGDV
Q�F�S�

&HQWURV�FRPHUFLDOHV &HQWURV FRPHUFLDOHV JUDQGHV� PHGLDQRV \ SHTXHxRV �%DVH GH
GDWRV &DWDVWUDO�

3DQDGHUtDV 1R KD\ XQ FyGLJR &,,8� QL XQD FDSD JHRJUiILFD HVSHFLILFD�

)DUPDFLDV 1R KD\ XQ FyGLJR &,,8� QL XQD FDSD JHRJUiILFD HVSHFLILFD�

%RGHJDV 1R KD\ XQ FyGLJR &,,8� QL XQD FDSD JHRJUiILFD HVSHFLILFD�

&HQWURV�GH�GLVWULEXFLyQ 1R KD\ XQ FyGLJR &,,8� QL XQD FDSD JHRJUiILFD HVSHFLILFD�
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/D 2)(57$ 727$/ �2IHUWD (VWDWDO 'LVWULWDO
� 2IHUWD 3ULYDGD� DOFDQ]D XQ WRWDO GH
������ SXQWRV \ VH HQFXHQWUD
FRQFHQWUDGD HVSDFLDOPHQWH HQ VXV
UDQJRV ´0X\ $OWDµ� ´$OWDµ \ ´0HGLDµ
VREUH HO ������ GHO iUHD DQDOL]DGD� GH
PDQHUD TXH HQ HVD H[WHQVLyQ GH
WHUUHQR VH DJORPHUD HO ������ GH ORV
SXQWRV�
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3REODFLyQ UHVLGHQWH � 8VXDULRV SRWHQFLDOHV�

,QVWDODFLRQHV VDQLWDULDV HQ ODV YLYLHQGDV�
1HFHVLGDG GHO VHUYLFLR HQ OD ]RQD GH
GHVWLQR� QR GH RULJHQ�

3REODFLyQ IORWDQWH� 3REODFLyQ TXH XWLOL]D XQ
WHUULWRULR SHUR FX\R OXJDU GH UHVLGHQFLD HV RWUR
�*DUURFKR� ������

8VXDULRV SRWHQFLDOHV  6XEFRQMXQWR GH OD
3REODFLyQ IORWDQWH�
� +RUDULR ���� DP ² ���� SP
� 'tD +iELO 7tSLFR
� 'HVWLQR =$7 HQ %RJRWi �VLQ LPSRUWDU HO RULJHQ�
� ([FOXVLyQ YLDMHV SHDWRQDOHV PHQRUHV D �� PLQXWRV�
� 0RWLYDFLRQHV GH YLDMH�

9,$-(�&202�352;< '(�3(5621$6������VROR�UHDOL]D�GRV�YLDMHV�DO�GtD�
����GH�ORV�YLDMHV�HV�SRU�HO�PRWLYR�´YROYHU�D�FDVDµ�
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,QFOXLGDV�
7UiPLWHV
5HFUHDFLyQ
2WUD FRVD
,U D YHU D DOJXLHQ
%XVFDU�GHMDU DOJR
%XVFDU WUDEDMR
%XVFDU�GHMDU D DOJXLHQ

([FOXLGDV�
9ROYHU D FDVD
7UDEDMDU
(VWXGLDU
5HFLELU DWHQFLyQ HQ VDOXG
&RPHU�7RPDU DOJR
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/D GHPDQGD SRWHQFLDO GHO VHUYLFLR GH EDxRV
S~EOLFRV DOFDQ]D XQ WRWDO GH ��������� YLDMHV
FRPR SUR[\ GH ORV XVXDULRV SRWHQFLDOHV�
WHQLHQGR TXH GLFKD GHPDQGD SRWHQFLDO VH
HQFXHQWUD FRQFHQWUDGD HVSDFLDOPHQWH HQ VXV
UDQJRV ´0X\ $OWDµ� ´$OWDµ \ ´0HGLDµ VREUH HO
����� GHO iUHD DQDOL]DGD� GH PDQHUD TXH HQ
HVD H[WHQVLyQ GH WHUUHQR VH DJORPHUD HO
������ GH ORV GHVWLQRV GH ORV YLDMHV�
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([LVWH � SXQWR TXH SUHVWD HO VHUYLFLR GH EDxR GH DFFHVR S~EOLFR SRU FDGD �����
XVXDULRV SRWHQFLDOHV� GRQGH FDGD SXQWR SRVHH � R PiV EDWHUtDV VDQLWDULDV�

/DV =$7 FRQ XQD FRQ XQD UHODFLyQ SRVLWLYD 2IHUWD�'HPDQGD VRQ ��� ��������� ODV =$7
FRQ XQD UHODFLyQ QHXWUDO VRQ ��� ��������� \ FRQ XQD UHODFLyQ QHJDWLYD VRQ �� ��������

/DV ORFDOLGDGHV FRQ PD\RU SDUWLFLSDFLyQ HQ ODV =$7 FRQ UHODFLyQ QHJDWLYD VRQ
8VDTXpQ ����� 7HXVDTXLOOR ���� 3XHQWH $UDQGD ���� &KDSLQHUR ���� (QJDWLYi ��� \
.HQQHG\ ����
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